Circles
Name:  





Div.:  



Date:  






Circumference = [image: image2.png]21Tl



  or  [image: image4.png]




Area = [image: image6.png]r



  ( Area is always in units2
1) What is the relationship between the radius and the diameter?

2) What is the relationship between the circumference and the diameter?
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	Name the 3 Radii:      AC,  AB,  AD
	Name the 3 Radii:

	Name the Diameter:  CD
	Name the Diameter:

	Radius:   3 cm                   Diameter:  6 cm
	Radius: :      4cm                   Diameter:  

	Circumference: [image: image10.png]


 = [image: image12.png]6T



  = 6(3.14) = 18.84cm
	Circumference:

	Area:[image: image14.png]


 = [image: image16.png]321



 = [image: image18.png]


 = 9(3.14) = 28.26cm2
	Area:
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	Name the 3 Radii:
	Name the 3 Radii:

	Name the Diameter:
	Name the Diameter:

	Radius: :                          Diameter:    12m
	Radius: :     2m                     Diameter:  

	Circumference:
	Circumference:     

	Area:
	Area:
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	Name the 3 Radii:
	Name the 3 Radii:

	Name the Diameter:
	Name the Diameter:

	Radius: :                          Diameter:  
	Radius: :                          Diameter:  

	Circumference:     31.4 mm
	Circumference:     21.98cm

	Area:
	Area:


	[image: image23.png]C
The ratio of the circumference to the radius is the same for any circle; that is, — =21,
v

where T is a constant. The diameter of a circle is two times the length of its radius.

C
Therefore, the ratio of the circumference o the diameter is always . that is, ——= 7. The

Greek letter mis pronounced *pie” and spelled *pi".

7= 3.141592653589.... The digits of pi go on forever. It is nonrepeating.

* Use 1 = 3.14 for all the questions in this worksheet.
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	[image: image24.png]Given that g:l,whclc C stands for cireumference and d for diameter, writc a formula that can be
used to calculate the circumference when the diameter is known.
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	[image: image25.png]Calculate the circumference of each circle, correct to two decimal places.

a. M b.






	
	a. ______________                                      b.     ​________________

	[image: image26.png]Area of a Circle

The circle is cut in half, and
each half is divided into four
equal segments.

‘ As such division gets finer and
finer, the segments fit
together to form a figure that

is roughly a parallelogram.
— _,

The base of the parallelogram is formed by half the circumference of the circle.
The area of circle is 4 =bxr

:lx(,‘xl'
2
1
= 2xmxrar (since G2 )

=xxr?

The formula for the area of a circle is 4 = 717
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	[image: image27.png]Calculate the area of each circle that ha






	
	[image: image28.png]a. radius of 5 em.






	
	[image: image29.png]d. diameter of 3.2 em.
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	[image: image30.png]Complete the table.

Circumference and Area of Circles

Radius Circumference Arca

7 em

21.98 m

28.26 cm®




/
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	[image: image31.png]The hoot of a lost African wild dog can be heard by people from as far away as 4 kilometres. What is
the arca in which people can hear a hoot?
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Answer:  ______________  
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Answer:  ______________  
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Answer:  ______________  



